onaTURE. OF QUALITY
51

INSTRUCTIONS-INSTRUCCIONES-CONSIGNES

APPLICATION: 2002-2005 -DODGE RAM 1500 / 03-05 DODGE RAM 2500/3500
APLICACION: 2002-2005 -DODGE RAM 1500 / 03-05 DODGE RAM 2500/3500
APPLICATION: 2002-2005 -DODGE RAM 1500 / 03-05 DODGE RAM 2500/3500

BUMPER KIT: 31015 / 32015 / 31017 / 32017
EQUIPO DEL PARACHOQUES: 31015 / 32015 / 31017 / 32017
ENSEMBLE PARE-CHOCS : 31015 / 32015 / 31017 / 32017

ITEM QUANTITY CONTENTS TOOLS
1 1 BUMPER ASSEMBLY - CHROME 15MM SOCKET
2,3 2 BUMPER BRACKET (DRIVER AND PASSENGER SIDE) 15MM BOX END WRENCH
4 2 BOLT PLATE T15 TORX DRIVER
5 8 M10 X 30MM FLANGE BOLTS FLAT HEAD SCREWDRIVER
6 4 M10 FLANGE NUTS RATCHET
7 4 M10 EXTRUDED U-NUTS
8 1 WIRING HARNESS
ARTICULO|] CANTIDAD CONTENIDO HERRAMIENTAS
1 1 CONJUNTO DEL PARACHOQUES - CROMADO DADO DE 15 MM
2,3 2 SOPORTE DEL PARACHOQUES (LADO DEL CONDUCTOR Y DEL ACOMPANANTE) LLAVE DE ESTRIAS DE 15 MM
4 2 PLACA DE PERNOS DESTORNILLADOR TORX T15
5 8 PERNOS CON BRIDA M10 X 30 MM DESTORNILLADOR DE CABEZA PLANA
6 4 TUERCAS CON BRIDAS M10 MANERAL
7 4 TUERCAS A PRESION EN “U” M10
8 1 ARNES DE CABLEADO
ITEM QUANTITE CONTENU OUTILS
1 1 ENSEMBLE PARE-CHOCS - CHROME _ DOUILLE 15MM
2,3 2 SUPPORTS DU PARE-CHOCS (COTES PASSAGER ET CONDUCTEUR) CLE POLYGONALE 15MM
4 2 PLAQUE DE BOULON TOURNEVI§ TQRX T15
5 8 BOULQNS D’ACCOUPLEMENT M10 x 30MM TOURNEVIS A TETE PLATE
6 4 ECROUS D'’ACCOUPLEMENT M10 CLIQUET
7 4 ECROUS EN U EXTRUDES M10
8 1 FAISCEAU DE CABLAGE
1. Verify all hardware contents listed above are present. Carefully read all instructions before installing.
2. Install mounting brackets loosely to bumper assembly by using the supplied bolt plate and flange nuts. (FIGURE 1)
3. Install extruded u-nuts into bumper as shown in photo. (FIGURE 2)
4. Install bumper onto rear frame rails, use two bolts and flange nuts per side to secure in place. (FIGURE 3)
5. If vehicle is equipped with a receiver hitch, install two bolts behind the license plate mounting location. Install existing trailer lighting connector to
the bumper. Trailer lighting harness not included. (FIGURE 4 & 5)
6. Align the bumper assembly and tighten all fasteners.
1. Verifique que estén todas las piezas de tornilleria detalladas anteriormente. Lea detenidamente todas las instrucciones antes de la instalacion.
2. Instale sin apretar los soportes de montaje al conjunto del parachoques con la placa de pernos y las tuercas con bridas provistas. (FIGURA 1)
3. Instale las tuercas a presién en “U” en el parachoques como se muestra en la foto. (FIGURA 2)
4. Instale el parachoques en los soportes traseros de la carroceria; utilice dos pernos y dos tuercas con bridas de cada lado para que quede firme.

(FIGURA 3)
5. Si el vehiculo estd equipado con un enganche receptor, instale dos pernos detras del sitio de montaje de la placa de identificacion. Instale el
conector de luces para remolque existente al parachoques. No se incluye el arnés de luces para remolque. (FIGURAS 4 y 5)
6. Alinee el conjunto del parachoques y ajuste todos los sujetadores.

1. Vérifier que toutes les pieces énumérées ci-dessus sont dans I'emballage. Lire attentivement toutes les instructions avant de commencer.

2. Installer sans serrer les supports de montage sur I'ensemble pare-chocs a l'aide des écrous d’accouplement et de la plaque de boulon fournis.
(FIGURE 1)

3. Installer les écrous en U extrudés dans le pare-chocs tel qu'illustré. (FIGURE 2)

4. Installer le pare-chocs sur les longerons arriere a l'aide de deux boulons et écrous d'accouplement de chaque c6té pour le fixer en place.
(FIGURE 3)

5. Sile véhicule est muni d'une boule d’attelage, installer deux boulons derriére I'emplacement de fixation de la plaque d'immatriculation. Installer le
connecteur d'éclairage de remorque existant sur le pare-chocs. Le faisceau d'éclairage de remorque n'est pas inclus. (FIGURES 4 et 5)

6.  Aligner I'ensemble pare-chocs et serrer toutes les attaches.

A

Westin Automotive Products, Ine.
5200 N. Irwindale Ave. Suite 220
Irwincla.le, Ca. 91706

Thank You for choosing Westin products

For additional installation assistance please call

Customer service (800) 793-7846 or (507) 375-3559




INSTRUCTIONS-INSTRUCCIONES-CONSIGNES
4 APPLICATION: 2002-2005 -DODGE RAM 1500 / 03-05 DODGE RAM 2500/3500

APLICACION: 2002-2005 -DODGE RAM 1500 / 03-05 DODGE RAM 2500/3500
APPLICATION: 2002-2005 -DODGE RAM 1500 / 03-05 DODGE RAM 2500/3500

BUMPER KIT: 31015 / 32015 / 31017 / 32017
EQUIPO DEL PARACHOQUES: 31015 / 32015 / 31017 / 32017
ENSEMBLE PARE-CHOCS : 31015 / 32015 / 31017 / 32017

FIGURE 1

\ FIGURE 2
FIGURA 1 \ ® % FIGURE 2

FIGURE 2

FIGURE 1

FIGURE 3 i FIGURE 4
FIGURA 3 FIGURA 4
FIGURE 3 , FIGURE 4

FIGURE 5
FIGURA 5
FIGURE 5

” Westin Automotive Products, Inc. Thank You for choosing Westin products
izwl.?? JI;I] I‘gmg"il; (‘%"e' Suite 220 For additional installation assistance please call
' T Customer service (800) 793-7846 or (507) 375-3559



